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(i) yFs A 12,15,17,20,21,22 w3 23 ¥ vegat 9= & ge feFt weh 3

A P 4
1. (@) fe (log x+x)dx HoHd

(iii)

(@ e'+c (b) e"logx+c: (¢) e_x_+c (d) logx+c !
(i) dowawa [a-b|<a|[p| THI
(a) FEErEH FEIETS' ~ (b) mm

(c) A YW
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(2)
(iii) Wag P(E) faR wesr E @ 9= & Aawsr 3 3t
@ P(E)e[-1, 1] ) P (E)e(l, ») p.
(¢) P(E)e(0,1) ) P(E)e[o, 1] 1
(iv) 9T » fEa2 wardht Afgper 3 31 7 asb=a2+b? I3 3x59 6.
(a) 34 (b) 9 (c) 8 (d 25 17
(v) 9 A & 3x3 3 & Aeam I w3 |A|=10 3 31 [adj-A[ T 1
(@ 0 (b) 10 (c) 100 (d) 1000 I
(vi) W9 8.
Ei“_x s X0 9
f(x)={ X ,Xx=03BI3g I3k I
k-1, x=0
(@ 2 b)) 0 (c) -1 d 1 18
(vii) 38 3x+4y-20=0 w3 fég (0,0,-7) v gt &
(a) 4 units (b) 3 units (c) 2units (d) 1unit 1

(viii) fzz3et P g—y+y=3 = Seffage qeods 3
X

@@ x ®) e € e ) logx 1

(ix) #9d y=sin (sini'x+cos" x), x [-1, 1] & 3 % 3
@ 3 ok (© 0 @ 1 |

(x) #9d cos'x=y I 3t o

(a) %sy‘sg (b) rsysn (©) OSySg d oO<ysn 1
2. fsgom Wia Ofgwt 3 oET € WITUT weET TE el ¥ Ufge § womlz et fegdet
mﬂaazw@' -2 2
3 ﬁ'aaP(A)_._ P(B)=— w3 P(AuB)——— 3 P(AIB) u3T 33 | 2
4 g ffeam A=[a,] | "3 a,=(3i-2))" 3 AREH A wEET | | 2
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(3)
i M
>, J_TSLH_X_J__ dx ?"Wﬂ%l 2
5 sin” X +cos” X
L
7dx
6. _— i
- jx(x’~1) bt Rt B
= Wa?faf(x)=sinx+cosx§m[o,n/z]ﬁvmm@mgsqﬂmw
Jerd | )
: dy 1+y° . 5
8., fesad mitge e TyR IS U ad w fa x=03 y=1 Rz I 2
O 5‘82x+3y—52=10’ﬂ?ﬁ§”ﬁ(2,3,—1)m§(1,2,1)?%%‘1%@%%@

94 | >

10. WW@SZWW@%@‘@@@H@@%H@R@HW@W@
{ faesr &3 Figat fed 3 HoH's u3T a9 | 4
1. 799 a=2i-3j+4k »3 b=si+]-k fear FHIZT 93937 Ot gl § TIRER TS I
' mw@ﬁmwﬁﬁ@%m%wﬁaméﬁwaﬁl 4

12. wmﬁaﬁ[xsinz(%)—y]dx+xdy=0;y(l)=%?meﬁl 4
il
fez3dt mHtaaeE tanxgy+y=2xtanx+x2,x¢0 T YH I8 U3 98 We i« x=% 3

dx
4

A4

y=0 f&zr J |

13, fig a3 fiess ROR, f(x)=3‘72" Rafa w3 @331 1 Suwad | 4

A i—l'-'(“%)au | i
[13 e AR T .- |
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16.

17.

18.

19.

20.

21.

22.

(4)

B3, <
ey 8 =« Wl
TRy R TI |y y  1HY =0 3 3t fitg 93 fa xyz= 4
$ ¢ 1+5
fesdat ¥ w9 w@d (037)" € I WS U A | 4
g +l 4
[S dx wr ystaE w3 |
" 3 +l
Wi 9
- e
jd\ T HSIEE 3 | 4
x -1
fefsun%+%=1ﬁvﬁ%833?8’33€8u3*a?l 4
99 y=(x)""+(tanx)" & 3t :y u3T 99 | 4
HO3T x+y<8 2x+y>8, x-2y20,x,y 20 ® ¥¥3 Z=15x+30y ?éﬁ?"éﬂ’ﬂ?%
URAUE WEH'S 94 | 6
i :
Ho3t x+y<10, x+y>3,x<8,y<9,x,y 20 ¥ ¥¥3 Z=4x+3y-7 TIgIT A
el WgHs a3 | 6
ﬁg(s.l.—l)?ésx-y+3z=10§az%awﬁewﬁlz%aéﬁae"r,fﬂg(z,3,—1)?,ga‘}
uzT 43 | 4 R 6
At
foni A2~ 1.1)B(4,3,2) "3 C(6,5,-2) 3 4w ¥ I5 = Wiise w3 =3 | feg &
ﬁuaafaﬁg(s,—l,lié)ﬁghﬂn,Bm?C,é‘fééésiél &l
ﬁamﬁaw&gé%m-maﬁaéguﬁa%lﬁaaﬁ?mmmﬁlm
i foret U 33 31 7 el & At s 9T 20 37 U ISt o RS | 6
o :
13 (sphere) 7 €afon (inscribed) ¥u 3° ¥u »fe35 T@ A (cone) T
v‘ris—ziﬂiwal 6
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: (5)
. %M%’bﬁmtﬁW?_}mﬂf@ﬂﬁwﬁz
x-2y+3z=-53x+y+z=82x-y+2z=1 6
Hi
2Rl
wifsq guizaai ot |1 2 3| = §8ea (inverse) UST &3 | 6
1 -3 0

(Hindi Version)

: () ST G- RT3 §ET §T W RNE-HS/Av-Hs art @ 7 Feg-as/que-#s 028/C
3797 ford |

(ii) m—W%éw@wﬁm%é%wﬁma@ﬂOwé@a@?mﬁ?/

(iii) mgﬂaw#waﬁ@?ww/ﬁﬁwﬁgaamWﬂ?ﬁ/ﬂ?ﬁ‘fﬁg@fwaﬁmm/

(iv) @ ge7 Sfard &1

(v) Fogeiet B AT At &, T GIT 2T FT FAT AT o e 8

@ @) geT1 F 10 97T &7 qor 53 91T 1 9% # &

o (vii) FET2 §9 A9F2 3 FT &I |

(viii) 79710 @ 19 TEF4 S & &I

() 9720 @23 gAF6 GH A &M

G) % YT geT-gT 3 a7 8l

(xi) Gt T B 7 g9 ofieft & Al @ STy &1 Fl AT ST X SR & & gty
B w7 3 Rafy F sl & 597 % G&l A A g

\-;,, (xii) 797 e 12, 15,17, 20, 21, 22 ot 23 & oreedl g # ge @ W 81

G, 2 $ —]:-
i Je (log x+x)dx AR

X

(ii) s [a-|<a|[b] FAE .

(a) PrEN-gaT STEAA " (b) et SrEHRT
-?er?ﬁgﬁq‘ VAR, a22pa(gérZToﬂn1 e

(@ e*+c (b) e'logx+c () e;+0 (d) logx+c 1

1

ad free old Question papers gndu, ptu hp board. [Taupoveab boar c


http://a2zpapers.com/
www.a2zpapers.com
http://a2zpapers.com/

2zpapers. con

(6)

(i) 2R P(E) B o E 3 o e 8 @

@ P (E)e[-1, 1] ) P(E)e(l, ®)

(©) P(E)e(0, 1) @ P(E)e[01]
(iv) R + A-snerh afe A 2 e ax b=al+b? ¥ 3x5%

(@ 34 ®) 9 ) 8 @ 25
V) % A 3x3 B Ak aen |A|=10 B [adi-Al B

@ 0 ®) 10 () 100 @ 1000
(vi) @

sinX v
f(x)={ % x=0 WhR e k 2

k—lhax=0
(@ 2 (b 0 @ @ 1
(vii) T 3x+4y—20=0 a1 g (0,0,-7) AT A FA 2
(a) 4units (b) 3 units (¢) 2units (d) - lumis

(viii) STaea T %+y=3 Pl THEHTT TTES B
(@ x (b) e - (c) e (d) logx

dy A

(ix) 3 y=sin (sinf'ﬁ+cos" X), X §[—l, 1] & Hy

O ol © O @ 1
(x) dR cos'x=y R | -
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(7)

2 osin'x,’ : ’
Isin’x+cos’x dx 8 TR A
7dx
2
jx(x T-1) i it
it B £(x) = sin X+ cos X T A [0, m/2] ﬁmﬂqmﬁmmm%' -
2

Beenkiuicau iy day 14y 1 @ & §a S ware x=0 Wy= | Rarm

dx 1+x°

fagatt (2,3,-1) (1,2, 1) & aiE ameh @ S 2x+3y-52z=10 & drg & BT T
T | ‘ 2

Aol ford e HEE ST T | 4
afr G=2-3]+4k @ b=5i+]-k o T gt 1 S A 2 ¥ R ] g 3
aﬁmmﬂm@?mﬁ(ﬁ)ﬂﬁ@m%ﬂtmml 4
FHaH THIHLT [xsin2 (%)—y]dx+xdy=0;y('l)=—} &1 G & S D | 4
areran

STaE qHIEBT tanx%+y=2xtanx+x’,x¢0 G & § P STEfh
x=12t— wy=0 Rarm g

3, fim Fifom B wed f:R— R, f(x)=3—2x we-u q HuT e £ ol s AR 4

Y, cont (£)oL g (2626
U g (3)+°°s (5)'23‘“ (4225)it
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x x 1+ o1 # k
®xyzRhERam |y ¥y 1+y’ |=0 %eﬁﬂi@m% % P
g l+Z3 e ‘ ,‘ -
16. S & SR A g (037) 51 T e & o
X +1 4 .
17, S e g A |
e B
g (
j;;—‘f— 1 T F ) :
18. g L1 A e (

d 4
19. & y=(x)" +(tanx)" a” e AR 3

20. wEd x+y<8, 2x+y=8,x-2y20,x,y 20 3 agErR Z=15x+30y 1 At

shdl x+y<10, x+y23,x58,y<9, x,y 20 3 5 Z=4x+3y-7 am_‘

21. &g (3.1,-1) &7 x-y+32z=10 o o 99 T 2 W S O g (2,3,-1) %; |

F | :

o 1

Rz AQ-1,1),B(4,3,2) ¥ C(6,S,;«%) AT T A Bl FHHT S T f:_,_f

) = : :

=1 BaarC &Ry, TR
sw(s, 1, z),hsau, w' kg, “

22, Ras T T B S S 0 ' “*‘“m’ﬂmmhm A
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23. o e wftaet o gomeh = A fft ar e Hio

x-2y+3z=-53x+y+z=8,2x-y+2z=1 6
e
g 21
SRE AR AR | 1 2 3 | % owes (inverse) S HT | 6
1--8 0

(English Version)

Note : (i) You must write the subject-code/paper-code 028/C in'the box provided on the title

page of your answer-book.
(i) Make sure that the answer-book contains 30 pages (including title page)

properly serialed as soon as you receive it. :
(iiij) Question/s attempted afier leaving blank page/s in the answer-book would not be
evaluated.

(iv) All questions are compulsory.
(v) Use of calculator is not allowed but Log Tables can be used.

i) Q. 1will consist of 10 parts and each part will carry 1 mark.
i) 0.2100.9 each will be of 2 marks.
wiii) 0.1010 Q. 19 each will be of 4 marks.
(ix) Q.20100. 23 each will be of 6 marks. /
(x) Graph paper is attached with the question paper.
(xi) Punjabi and Hindi versions of questions are translations of English version. Since
" translation is based on approximations, S0 in the case of any confusion consider

English version 1o be correct.
(xii) Question number 12, 15,17,

(i) je"(log X +l) dx isequalto
X

and are

20, 21,22 and 23 contain internal choice.

. eX
(@) e*+c¢ (b) e'logx+c (c) ;—+c (d) logx+tc 1

" (ii) This inequality lé’-B\
B (a) Cauchy-Schwartzinequality

4
RE

<|a|[b] iscalled
(b) Triangle inequality

(c) Rolle’s Theorem (d) Lagrange’s Mean Value theorem 1

nceof event E then
(b) P(E)e(l, )
@ P(E)eo, 1]

) If P(E) denotes probability of oceurre
(a) P(E) e[-1, 1]
(c) P(E) (0, 1) 1

rs. com WWW. a2zpaper s. com ' e
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(10) 5
p? then 35 is e

(iv) If » isabinary operation such that axb=a’t 45 @, 18 ‘ ‘; C
(a) 34 ®) 9 (c) R
(v) If A isamatrix of order 3x3 and |A|=10 then ladj'AI 5 il
@ 0 (b) 10 (o) 8 Y 8
(vi) If
SinX 'y 20
f(x)=1 X is continuous at x =0 then k is
k-1, X= 0 3
(@ 2 b) 0 (c) -1 @ 1
(vii) Distance between plane 3x+4y—20=0 and point (0,0,-7) is
(a) 4units (b) 3 units (c) 2units (d) 1lunit
(viii) Integrating factor of differential equation %X +y=3 is
X
(@ x D) e (c) ¢ - (d)  logx |
(ix) If y=sin (sin“x+cos'1 4 e[-1, 1] then % is
n —T <
@ 7 ) (© 0 @ 1

(x) If cos™x=y then

(a) :E-S)’S-"E (b) -m<ysn (c) o0<y< (d O0<ysm 1

T
2 2 2

Form differential equation representing the family of lines making equal intercepts on th

co-ordinate axes.

' KP(A)=T7§,P(B)=% and P(AuB)=% thenfind P (A[B).

If matrix A=[a,~j]m and a; = (3i-2 j)’ then find matrix A.
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1.

f x,y,z aredifferentand | y ¥’

Zpapers. con (34

Check whether Lagrange’s mean value theorem is applicable on f (x) = sin X + cos X in
interval [0, 7t/2]. 5

: 4 : v ly 1+y?
Find particular solution of differential equation ‘l} = l;'y* giventhat y=1 when x=0. 2
dx A XE

Find the angle between the plane 2x+3y~52z= 10 and the line passing from the points

(2,3,-1) and (1,2.1). 2

Two cards are drawn (without replacement) froma well shuffled deck of 52 cards. Find probability

distribution table and mean of number of kings. 4

If a=2i-3j+4k and b=5i+)- k represents sides of a parallelogram then find both

diagonals and a unit vector perpendicular to both diagonals of parallelogram. 4
Find the particular solution of differential equation [x sin’ (%)—y] dx+xdy=0;y (1)= % !

or

Find the particular solution of differential equation tanx%l+ y =2xtanx+x’, Xx#0
X

given that y=0 when x= 125 4 4
Prove that function f:R — R, f(x)= ~“X inone-oncand onto. Alsofind f™'. 4
5 4 1l 3696
SR R B (ST =1 Lo P -1 : 4
Provethat: sin (13) +¢os ( 5) 3 sin (——4225)
9 B ‘
Express [3 1 5| assum of symmetric and skew-symmetric matrices.

168

or

x ¥ 19z
1+y’ |=0 thenprovethat xyz=-1.
PR

cen iglsﬁndappfoximate value of (0-37)}4 .
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17.

18.

19.

20.

21.

22.

2
Evaluate:jx‘::dx.
X

or
Evaluate : j—g—i—
X —'l x2 yZ 4
Find the area of region bounded by the ellipse 5=+ =57~ L.
tan x X dy 4
If y=(x)""+(tanx) thefind G
Maximise and minimise : Z = 15x +30y 6
subject to the constraints : X+y < 8, 2x+y28,x-2y2 0,xy 20
or
Maximise and minimise : Z =4x+3y—7 ‘8

subject to the constraints : x+y<10, x+y23, x<8,y<9 XYy 20

~1)and foot of perpendicular drawn from (3, 1, -1)

Find the distance between the point (2,3, é

to the plane x—y+32=10.
or

Find the equation of plane passing from the point A(2,-1,1),B (4,3, 2) and C(6,5,-2).

Also prove that point ( 5 -1, :;2) lies on the plane given by points A, B and C. 6

A window is in the form of rectangle surmounted by a semi-circular opening. The perimeter

of window is 30 m. Find the dimensions of window so that it can admit maximum light through

the whole opening. 6
or

] th
Prove that volume of largest cone, which can be inscribed ina sphere, is (-28—) part of volume
: 7

of sphere. ' 3 6
Solve the following system of linear equations by matrix method :
x—2y+3z=—5,3x+y+z=8,2x—y+2z=l 6
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